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Question Number : 1 Question Id : 5431075172 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

Microsoft PowerPoint iz a -
AT EITe UavaRe & U |

Options:



Databaze Prograirl
slcle] HETH

Bpreadslleet program
o WIS TR

Presentation program
Tl HRITH

Word Processing program
4 TS UTHRET U

Question Number : 2 Question Id : 5431075173 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Guestion
What is the intersection of a column and a row on a worksheet called ?

UF ghdic ¥ Biaq T4 W @7 gfesed 7 Heddr € 7

Options:
Column

EAEE

Value

B

Address
REE

Question Number : 3 Question Id : 5431075174 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

What type of chart is usetul for comparing values over categories ?

ST IR Hedl & g &Y @ (oY (e WER @1 9 Suant g ?
Options:
Pie Chart

;. TTE =M



Colunmn Chart

o HieH =T

Line Chart
= o ':c'; fﬂ—"_;

Dot Graph
4 SIC TTH

Question Number : 4 Question Id : 5431075175 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple Choice Cuestion

Which function in Excel tells how many numeric entries are there ?
TaIel § IF-A1 BEEH A8 qaral © [ fho HeToRs ularedl 8 2

Options:
, NUM

, COUNT
SUM

CHKNUM
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Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question

Formula in Excel start with -
TS H A 9% B B

Options:
#

, #® T



Question Number : 6 Question Id : 5431075177 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

The cell reference for cell range of A2 to M12is:

A2% M12 & 9 ¥ & ot dd Neeg &
Options:

i A2 1 M12

A2 M12
AZ2MI12

A2NM12

Question Number : 7 Question Id : 5431075178 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Juestion Label - Multiple CThoice Cuestion

If x:y=2:3,thenvalue of 6x+7y:12x+5y is:
g x:y=2:3, @ 6x+7y:12x+5y & °4 g
Options:

a0
1.

11:13
z.

12:13
=,

5]
3 o

Question Number : 8 Question Id : 5431075179 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

The factors of the polynomial (a+b)* —(a—b)* is -
c.«__:'ﬁ‘-_.:_':'_. {ﬂ+bj3_“?_b}3 BT _l:n_l_'_lm _% _.
Options:

y 211{311-1 + Irzj



EE?[QZ + 33?2}
2a mz +Ir:]

2ab (a® —b7)

Question Number : 9 Question Id : 5431075180 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

3 3
e 1 z e If Z

If —=i=—, then value of : —"r: 4
a b ¢ g~ B g

-
¥

15 :

=3
fu

Al

Options:
E oy ol 7 i
a+b+c

X—y4z
at+b+c

Xz

abc

3xyz

abe

Question Number : 10 Question Id : 5431075181 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Question Label : Multiple Choice Guestion

The ages of two persons are in ratio 5 : 7. 13 vears ago their ages were in the
ratio 8 : 13. What are their persent ages ?

S il & &Y &1 AU 5 - 7 21 18 I Usel 9] Y B FAE 8 ¢ 13 7|
T H I A1 fopae 2 7

Options:
45 years; 65 years

, 45 qY- 65 99



50 years : 70 years
50 %; 70 a9

50 years; 60 years
50 @9 60 79

45 years; 63 years
45 7, 63 T

Question Number : 11 Question Id : 5431075182 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuesticon Label : Multiple Choice Question

A man bought a wrist watch for Rs. 225 and spend Rs. 15 on its repairs. if he
sold the same for Rs. 300. then what was his profit percent ?

U ATEHT 31 @1 Hel 225 Yo H @iiel 991 15 Y 99 AV H o fharl afg
a% 99 300 %90 H 99 feur a1 99 fae ufcera &1 @y gen 7

Options:
30 %

Question Number : 12 Question Id : 5431075183 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

What amount of money should deposite in the bank in order to get Rs. 1,323 in
two years at 5 % interest compounded annually ?

OOl 1,323 AT XA @ AT o9 A 9 99 & fog 5 ufoe aiffe asgfy o o
Y ford $90 W9 B =Ry 7

Options:
Rs.1.000
1 1,000 &1



Rs. 1,100

, 1,100 57

Rs 1,200
5 1,200 A
R=s.1,250
1,250 9
4,

p—
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Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1

Cuestion Label - Multiple Choice Cuestion

A chair listed at Rs. 350, is available at successive discounts 25% and 10%. The
selling price of the chair is :

Ul D1 3feha god 350 UGl & Ol 25% o1 10% @ hids B IR 9ude] © |
Fdl @1 faha o0 18 7

Options:
Rs.236.25
36.25 W7

s. 240
240 94
zZ.
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Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

(1—x) {l+.r+x2} _E
(1+x)(1—x+x2) 63

Find the value of x in the expression

1-x)(1+x+x7) 62 4 31 L
ey =% L+ ¥ ) 2% 3 x T A9 T IR ?
(I+x)(l—x+x") 63

Options:



1
1
> 3
1
3 4
1
4. 2

Question Number : 15 Question Id : 5431075186 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

A reduction of 12 % in the price of a T.V. set brought dowm its cost to Rs. 7,673.
What was the original price of the set ?
T clo dle ¥e & Hod H 12% REe I & &R0 S8 7,678 94 § @igl 14
2| o dlo T & URMBIH oI F7 o7 ?
Options:

Rs. 8,700

8,700 ¥4

1

Rs. 8,725
5 8,725 B0

Rs. 8,500
, 8,500 T

Question Number : 16 Question Id : 5431075187 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

The perimeter of a rectangular field is 100 m. If the length of the field is
decreased by 2m and its breadth increased by 3 m, the area of field is increased

by 44 m? . Then the dimensions of the field is -

5l SMUaTRR & &1 ufNETg 100 Ho g1 afe 39 &9 &1 aFiE 2 Hio ®H &Y o
W T ArerE 3 Hlo g7 o W, Ol 39 &1 &I &=7hd 44 95 Hio §¢ Wil g1 99
g o e 2




Options:
30 m; 20m
30 Hlo; 20¥io

1
24dm; 26 m

o B8 Hlo; 26 Hlo
30 m; 26 m

5 30 Hlo; 25 #io
32m; 18m

i 32 Hio; 18 Hio

Question Number : 17 Question Id : 5431075188 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1

Cuestion Label - Multiple Choice Cuestion

A man went to the market at a speed of 4 km/hr. and returned at 3 km/hr. It
he took 30 minutes more in returning, then distance of the market from his
home is

LRI E-p=] O T 71 8= Fol =1 N T M= B 1 A 3 11 N I - 21 > [o B 1 B I = e e e 2
afe 99 9109 3§ 30 A Sifae WHy o O 9We HY 9 g B o0 €

Options:
4 km

, At

6 km

i G |I’F11ﬁ

Question Number : 18 Question Id : 5431075189 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question



A and B together can do a piece of work in 4 days but A alone can do it in 12
days. How many days would B alone take to do the same piece of work ?
frdl 19 @ TP 90T B A AR B WA Hoaay 4 B9 A qu ava €| o & 39
RT B A 3bar 12 351 H g1 &var &1 B 99 & & o4l 90T $1 foa 31 4 g
T 7
Options:

8 days

8 T

1.

6 days
5 B e

14 days
.14 e

10 days
4 10784

Question Number : 19 Question Id : 5431075190 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

The age of father is 30 years and age of the son is 8 years. In how many years
the age of father will be twice the age of son ?

foeT 1 99 30 98 o1 9= @ Y 8 94 2| foher aul 4re fUaT $1 9H YF & 9H @
Options:

12 years

1299

24 years
24 Ty

28 years
28 T

14 vears
14 99

Question Number : 20 Question Id : 5431075191 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1



Cuestion Lakel : Multiple Choice Guestion
The sum of interior angles of a pentagon is
Options:
450°
1.

540°
4380°

520°

Question Number : 21 Question Id : 5431075192 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label | Multiple Choice Guestion
. 0.013)% + (0.007)° .
The value of ,f LR el 57
(0.013)% — 0.013 % 0.007 +(0.007)>

(0.013)> +(0.007)3

b _ A €
(0.013)* —0.013%0.007 +(0.007)"

Options:
0.006

0.02

0.0091

0.00155
4.

Question Number : 22 Question Id : 5431075193 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1

Cuesticon Label : Multiple Choice Question

In which year Bombay Slock Exchange (BSE) Started trading in securities ?
g g9 4Tl ¥l Uaeol (BSE) A Uiefaal d &R gwe e ?

Options:
1875
1.



1900

1905
4.

Question Number : 23 Question Id : 5431075194 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Question Label - Multiple Choice Guestion
In which yvear Securities and Exchange Board of India Actwas passed ?

G iy B IEGIE ufef ud faf- g are JfefTs g g o ?

Options:
1991
1.

1992

Z.
.
= 1993

1994
4.

Question Number : 24 Question Id : 5431075195 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question

National Stock Exchange (NSE) was incorporated in :
Y iR Uaded (NSE) THIfae g3 o

Options:

i 1991

1992
Z.

1993
ik

i 1994

Question Number : 25 Question Id : 5431075196 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question



The objectives of listing of securities is to provide :
afefaal & YAIBR &1 9599 USH Bl €

Options:
Liqmdit}-‘
| e G

Marketablity

Investor prntectil:m

. = g &1

All of the three
, T

Question Number : 26 Question Id : 5431075197 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

Securities are related to Primary Market :
Options:
New Izsue of Shares

New Issue of Debentures
5 PO THl BT Ad FEET

New issue of Bonds

5 af=sq @ A9 e

All of the three
4 OETH T

Question Number : 27 Question Id : 5431075198 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

Treasury Bills are issued on behalt of the Central Government by :
oo o o WReR @ SR 0 AT faa o 2
Options:




Commercial Banks

i e T
1. QllVibsy ddl gixl

Company

o W] R

Reserve Bank of India

= NG Ned 9 T BT

Life Insurance Corporation of India
4 FINCTT ST 9491 FTH BT

Question Number : 28 Question Id : 5431075199 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

Treasury Bills represent short-term borrowings of the :
cordl el Wegd &l § AuDiel N ¢

Options:
Commercial Banks

e B -
1 dUTodch «dh] f:f.ll

Company

o TFIH] @1

Central Government
5 5 AYBN B

None of the three

, S W BT

Question Number : 29 Question Id : 5431075200 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

Certificate of Deposits are :
ST UEO-E B

Options:
Fully Secured

Partly secured

, e GRiew



Unsecured

5 e

None of the three

Question Number : 30 Question Id : 5431075201 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable: Yes
Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

Certificate of Deposits can be subscribed by :

i

Al THIO-TH Gl :'.'rﬁi‘lﬁTI v ﬂ-l*'h';-. Bl

Options:
Individual

, Sfad g

Trust

= AL & d

Non-Resident Indians

5 SR ARAR ERT

All of the three
, 3 i

Question Number : 31 Question Id : 5431075202 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :

No Control Enable: Yes
Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

A Commercial Paper is issued by the :
L '- P o fae e
RTHIFTEA UYYY -7 1HT Tl FidT &

Options:
Company

1a—m|=ﬁ?1'~rr

Commercial Banks

s g
dili¥lrlichy sfch] gixl]

2

Reszerve Bank of India

All of the three
a4 SIG IR Bl



Question Number : 32 Question Id : 5431075203 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

Comumnercial papers were introduced in India from the vear:
qIRd H L YR T aeaiad fhar T4 9y
Options:

1959

1.

1990
Z.

1991
o

1994
4.

Question Number : 33 Question Id : 5431075204 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion
Which one is not a type of Bond ?

PHIF-9T Uk 90E & TR FE 2 °

Options:
Zero Interest Bonds
fa= =T g7l 91rsy

1

Irredeemable Bonds

5 A Givey 3

Callable Bonds
Bl @Y ATy divgy

o

Putable Bonds=
4 gcad divgd

Question Number : 34 Question Id : 5431075205 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Question Label ; Multiple Choice Guestion
Debenture stock must be

FUOH i aMH] 9y :

Options:



Fully paid

Partly paid

Fully and Partly paid both

None of the three

4 O H Y PIE T

Question Number : 35 Question Id : 5431075206 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuesticon Label : Multiple Choice Question

Credit rating in all issues of debentures is :
Options:

Optional

p, SO

Compulsory

- r

Neither optional nor compulsory

5 T T Ueed AR A AFEn

None of the three

, T H B T
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Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Cuestion Label : Multiple Choice Guestion
Issue of Bond is regulated by :

dfve & i @1 fafrafad fear o 2

Options:
SEBI
i dl (SEBI) & g1



RBI
A 4 amg (RBI) & BT

Company
Bl o GV

None of the three

, T

Question Number : 37 Question Id : 5431075208 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

The Central Bank of India is -
T BT T JF 2

Options:
Reserve Bank of India

1

State Bank of India
E:E f’l'—_ﬂ 3 ”:l-' ‘{E' -Ij. 0 -:l

Central Bank of India

Bank of Baroda

Question Number : 38 Question Id : 5431075209 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

State Bank of India came into existance in the vear :
T S T siiear oiftda o o a9 H -

Options:

I, 1935

1945
2.

1945
=



Question Number : 39 Question Id : 5431075210 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion

Regional Rural Banks are managed by :
g IO 4 gIRT UEfed B € ¢
Options:

Central Government

1

otate Government
2 x 'C-'L.:l Glx'rffSQ

State Bank of India
= H xﬁlq ‘i‘&'C f_:Tﬁ
Board of Directors
HATeTeh Hed

4
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No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Cuestion Label - Multiple Choice Cuestion

Under which of the following methods of note - issue the RBI issues notes :
Fr=farfiaa Se-fraa Al 4 9 fros afa R fed & Ae-FFae &
2

Options:

Maximmun Fiduciary System

. Afgpad faeasag geia

Minimum Reserve System

zvﬁﬁqﬁfﬁ‘rq@ﬁr

Pra:lpl:rrtimml Reserve System

Fixed Fiduciary System

4 -.-—' ﬁ'T:lﬁ _:'IEJf] h%:h_-[ ki'f'_irl:'
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Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

A rise in the cash reserve ratio of banks will lead to -
dpl & Febg BT J gig &1 TH1G BT

Options:
Decrease in the money supply

Increase in the momney’ E'Lli}})l‘_‘)'

Pra:upnrticmate mcrease in the INONEey zupplj_;
, I Jfa F argmiie gig

None of the three

4?*\|ﬁﬁf_?f|§_ﬁ7£_|
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Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

An increase in the bank rate, other things being the same, will lead to :
4 oY H gia, 3 9/l & 9HME Y84 WX, @ YHE B0

Options:
Decline in the cost of credit
JEN DI AR H Al

Increase in the cost of credit
SER ] AT J ghg

Neither decline nor increase in the cost of credit
FER & AR § 9 B T g

None of the three

GRS i Al

Question Number : 43 Question Id : 5431075214 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuesticon Label : Multiple Choice Question



The issued capital of the Regional Rural Banks was subscribed by :
&AM AT dbi Bl G Yol g1 a1 S
Options:

Central Government

otate Government
2 \":l'q,_,'-'l.:l \‘I:l\l':l:; q

Sponsored Bank
5 wfie
; 3.] | Tl E-| FF.'

All of the three
” GIGIR-Azt]
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Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion

The main objective of a sound monetary standard is :
TP gge Alfad TAT & §= 9eIY BNl ©

Options:
To maintain stability in the currency’s internal value
. BT & ARG Jod H I 991 G-l

To maintain stability in the currency’'s external value
B B TET Jed H Wi a9 WG

Z.
To maintain E.tahi_lih' in the currency s internal and external value
o DY & SIRD TAT @24 Hod F WA T TG

None of the three

=T H 9 I T8

Question Number : 45 Question Id : 5431075216 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

India left the silver standard in :
W 1 Yoid WHT &1 gNearT fohar H ¢

Options:



None of the three

, A @
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Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
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Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

Which from the following is not a teature ot Gold Currency Standard ?
feiiag 5 | SI9-91 W BT 9HT @ [ehar 987 2

Options:

Circulation of gold coins
: U i &1 ge

No circulation of paper money
ST GaT &1 Faiq el el

Free coinage
Fgew s gors

Free import-export of gold
WU @ WO -
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Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
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Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

Which from the following is not a factor aftecting the velocity of circulation of

money ?
fer=iferiad 5 | SF-91 BRe g1 & el 97 Bl Ueida T8 dear € ¢
Options:

Quantity of mMoney



Distribution of Income

Credit Facilities

, SHR DT Fheard

None of the three

d H | BE TE
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Correct Marks: 3 WrongMarks: 1
Cuesticon Label : Multiple Choice Question
Which of the following equation was given by Pigou ?

Options:

] P=EKR/M
P=MV/T

2.

5 P=M/KY

P=KT/M
4
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Correct Marks: 3 Wrong Marks: 1
Question Label - Multiple Choice Guestion
Money supp I means -
P il
gaT gid ¥ e €

Options:
C urrency money

11@%@

Total stock of money in circulation at any moment
, T4 ¥9 W I & 971 § Fa K

Cash balances held by the Government and the banks
AYEN 9T 4] EINT 3@l T Ad6e 9y

3



Currency notes in circulation
ga- | Hdl Ale

4.

Question Number : 50 Question Id : 5431075221 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes
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Juestion Label - Multiple CThoice Cuestion

Exchange Equalization Funds were created under which form of Gold
Standard ?

faf-ra GRG0 ST &1 o WA @ fod Wwy H o Tar or ?
Options:
Gold Bullion Standard

. U AT

Gold Reserve Standard

Gold Parity Standard

=0T HHATET
= ®

Gold E:-cchange Standard
. Ul fafETEE
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uestion Label - Multiple Choice Cuestion

Which principle of note issue requires 100% metallic reserve for notes in
circulation ?
Are-Frme @1 wE- g TRl @ =eE ® oy 100% arftas MR @ arevae
1] B
Options:

Elasticity principle

l—rﬁﬂﬁﬂmﬂ?

Banking Principle
afh T fasTa

2



Currency Principle
L S FaET

Nomne of the three

4%1#%#&:@%
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Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

National Income is based on the :
NI ST SN 2T g
Options:
Total revenue of the state

g & @l ANTH W

Production of goods and services
AT U9 HaIsl B Seured 0¥

Net profit earned and expenditure made by the State
IS BRI dfoid Ig oW 91 6 T 9 W

None of the three
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Juestion Label - Multiple Choice Cuestion

As the economy develops, the share of the tertiary sector in GDP :
S-uTY SfefeEraRe @ fa@rd 2l F’ 'q;-dnlﬂl &= (Tertiary sector) @I BT Hdbol
el 91w (GDP) H :

Options:
Increazes

1 f’:'.f;l'l._e:l %--

Decreases



Decreases then increases
- = &
= 3 Il B :lj | % [ &

Remains constant
4 fem vEar &
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Correct Marks: 3 WrongMarks: 1
Cuesticon Label : Multiple Choice Question

Balnce of payment includes :
WA Ao d 9Ee B
Options:

Vizible Trade
1 FCUET TN

Invisible Trade
> WT.F[ET I

Debts
3 B Tl |

All of the three
4 T H
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Question Label - Multiple Choice Question
Gitfen goods are also called as :
Options:

Superior Goods

Complimentary Goods
, T 7

Inferior Goods

2 f::f'?a?ﬁ



None of the three

, T e
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Correct Marks: 3 Wrong Marks: 1
Question Label ; Multiple Choice Guestion
A graph of relatiozship between the price of a goods and the quantity demanded
is called -
U q%] @ Hod aUT AF T 4T 6 e Weaed guiiH dien @rEs (ATh) HEcdl
2
Options:
Supply curve

| SmIft am

Demand curve
J:iJ:I [ dsh

Market curve
o | "'._TE 1 'lf:l E:l;

None of the three
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Cuestion Label : Multiple Choice Guestion
Which of the ftollowing pairs ot commodities is an example of 'substitute’ ?

Frfeiad 5 W gwgs B BE-A JH WEYS B US Faew § 7

Options:
Petrol and car

i Uglel Ud ¥

Pen and ink
5 u 1(,"_»[ 3?5 {fﬁi'_‘lq 'q_':[ e ;|

Mustard oil and Coconuit oil



None of the three

, T A
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Cuestion Label : Multiple Choice Guestion

Law of Diminishing Marginal Utility was firstly propounded by :
AET SUIIRaT 8 M99 &7 9aued qiodreq f6ar or ¢

Options:
Alfred Marshall
C".\‘\'E! H 5-"-:’

H H Goz=zen
. Tdo Udo T4

K. E. Boulding
5 o o difesT

A. C. Pigou
, T o A
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Cuestion Label : Multiple Choice Question

According to Marshall, the basis of consumer's surplusis:
ATEId & SER, SUATG @1 Fed &1 R ¢

Options:
Law of Diminizhing Marginal utility
= Ui 89 HaE

1.

Law of Equi- Marginal utility
gg-UEa Suaiiarn Ha

Law of Proportions
ATl BT A

None of the three

o9 H 9 ®iE T8
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No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

In the long run , a perfect competitive firm earns :
=a trlcFchri ]:[ Udh "IUT PIREIE _h_'-i' :".r]ﬁG"]-E GREL | ? ;
Options:
Normal Profit
HAE @4

Super Profit
Feafeys e

Lo=s
=HIG|

All of the three
P A H gl
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Question Label : Multiple Choice Guestion

Essential condition of equilibrium of a monopoly firm is
UHh TSN BH @ 9 & oY Savgs 9d g

Options:
MR=MC
; MR =MC

MC cuts MR from below
MR T MC =9 ¥ &ical 2

AR= AC
AR =AC

MC=MR = AR=AC
MC=MR=AR=AC
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ouestion Label : Multiple Choice Question

A market structure characterized by having only one buyer and one seller of a
particular goods or service is known as -

UF AR Gl foeH U (9919 98] a1 9al &1 dad U wal a1 Us fakhal 8l o,
FY FET ©

Options:
Bilateral monopaolv
, famefig gereer

Monopoly
o UBTEHR

Oligopoly

3. 315"1 i %

None of the three
, O A W
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

The demand curve of a monopolist is :

e

Uth UhIEHNT @] A1 9 B8l & ¢

Options:
Parallel to X- axis.
| T e & FHMTY

Parallel to Y-axis
o dTS 3T @& FAFTRN

Slopes downward from left to right

iz eI 0 e B e B el R =

None of the three
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Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple Choice Cuestion



A consumer obtains the maximum satisfaction if he acts according to the law
of -

U Il DI SAfShad dqftc Wi @l 8, dfe 98 Mo & e an
Options:

Consumer's 511rp1115
"a.-_!rq]\"-]\. Ffﬁ r]'-":!ﬂ__

equ—l’viarginal utilitjc
WH-HHET IUAE]

Diminishing Marginal Utlity
= SUAIRTar 89

All of the three
i A=l H ol
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Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

When teww number of sellers are found in a market, it is called :
W9 U aTa™ § fadamsii @ &1 9= urh 9kl 2 99 $Ed © ¢

Options:
Oligopoly
i -.Hj-],_m.:”rla. 71

Perfect {mnpetiticm

EQ'UTEW?IT

Monopoly
. THITIPIY

None of the three

4_ﬁ*}:ﬁﬁﬁﬂ?‘|€f:&ﬁ
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Cuestion Label @ Multiple Choice Question



Law of substitution is also known as -
ufgeengs & 5999 &1 4 oEg 2

Options:
Law of Demand

Law of Diminishing Utility
(ol SUAETr &1 Aag

Law of Equi-Marginal Utilitv
HH-UMET Suaiar &1 FaH

Law of Marginal Productivity
AT ITgHd
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Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

The main demerit of a Sole Irading Concern is :
U Qe TTUING YT 1 TgE G0 €

Options:
Complicated formation

1 SAfce Flr T

Abszence of Personal Element
Limited Capital

Excessive T_egal Control

4ﬁfﬁ-ﬁjﬂrﬁﬂ3ﬁmm
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

Which from the following is nef a teature ot sole Proprietorship ?
e 3 § $-91 Ueae @i @7 fagwar 78 & ?

Options:




Full control on Business
! g drd Ov ‘1'.7.-[ -l-|?.]-‘:]|.
Limited Liability
= i s

Limited Capital
5 A TL_*?I

Limited Scope

4?—%‘-1?[61?[
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uestion Label - Multiple Choice Cuestion

With reference to statf positions, find out the odd from the following :
=% TSt & "oy § f=fafaa § 9 favs &1 59 Sy

Options:
No authority to get the suggestions implemented
; gEal &1 fhar-ad &¥ar U &1 Afaer 6l

No responsibility for wrong suggestions
Teld gl & oY i SvRendc F2

No accountability for wrong suggestions
Teld gHrdl & oIy @is Sovaddr -1el

No specialised work
®Is ARSIl gord H1d 1T
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Correct Marks: 3 WrongMarks: 1
Question Label : Multiple Choice Question
From the following the most economical from of organization is :

freferiag ¥ wey It g 97ed ey 2

Options:
Line Organization



Line & Staff Organization
YT 9T AN G

Functional Organization
fehaTeH s 9iTed

Matrix Organization
Afeag e
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Correct Marks: 3 WrongMarks: 1
Cuesticon Label : Multiple Choice Question
ACC is an example of :
Options:
Vertical Combination
ST HATo &

Horizontal Combination
qYdel TarAa &l

Circular Combination
gifg GATA= 6l

Diagonal Combination
i famuita dare= &1
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Correct Marks: 3 Wrong Marks: 1
Question Label - Multiple Choice Guestion
Circular Combination is also called as -

TSI HaTeT T H FET AT E

Options:
Services Combination

Mixed Combination

5 fAtsa HareH



Allied Combination
. HeETgd Sarad

Vertical Combination
Frdd WA

4
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Correct Marks: 3 Wrong Marks: 1
Question Label : Multiple Choice Question
In Line and Staff Organization, the staff is vested with :

AT g WIE 9ed § W H fAafeg =1

Options:
No authority to issue orders
ATSIT SN Y 1 il DN A8l

Full authority to issue orders

More ﬁuth::lrity to issue orders than what the Line has

VT D Jordl H AR SR B BT AP AR

Lesz authortiv to issue orders than what the line has

NGl B oAl H A AR B BT BH HAEBN
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Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion

The least democratic form of organisation is :

~ATH URIiES W6 WHY €

Options:
Line Organisation

i, Tg] HieA

Functional Organisation

5 R E e

Line and Staff Organization

3 NG g HHAN Fen



Commitee Organisation

g _tll -E ?:l-:' o
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label - Multiple Choice Question

Line oreanisation is the most suitable form of oreanisation for which tvpe of the
il J

following business units.

W] Wied Mfeifiag 8§ 9 69 UeR & AGdad saisdl @ fold Jdrad §@ed
ey BIaT _5’ !

Options:
Large business

o o ros
| TS ATHIAD FHIE

Business units operating over a wider geographical area

AEETF FaTsdl ol fawgd 4 &= q SRR 8

Business units having highly diverse product range

AGHTd Foredl fords U 9= fafderdl 491 Soarg §Ed &

Small business units

2 I B GRS B G ELAER]
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Juestion Label - Multiple Choice Cuestion

In partnership, a minor can be partner :

grEer] ¥ Ud o 9EeR & 9@ © ¢

Options:
Innocaze

et ot Reafa § ==t

But not more than one

b Uk W 3AfEE T8



But only to the benefits of partnership firm

Bt Emlj_.' as a secret partner.
, e hadl [ HEER & w9 4
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Juestion Label - Multiple CThoice Cuestion

As per Companies Act, 2013, a one person company isa:
AT SfETH, 2013 & FJER U Afdd T BI6l € ¢
Options:

Public Company
. GG B

Private company

Partnership Company

HIeier] ]

Dormant Company

?]Ef T G LAV e |
4 -
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Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

As per the Companies Act, 2013 , in general , the maximum time gap specitied
between two annual general meetings of a company is :

B AEEE, 2013 & SER, GHM OR UR, Udh Al DI G0 difte GuEl &
drg H Sfeead A= eF ey

Options:
Not more than 12 months

Not more than 16 months

o AIcIE HEHl 9 s T2



Not more than 15 months

Not more than 24 months

4 AR 7T St T
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Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

When two or more steel manufacturjﬂg companies combine, it is a case of :
o9 &I A1 3ffere e FEv S SAedg el © a9 J8 © ¢

Options:

Vertical Combination

AT HAT

Horizontal Combination
E:" _ﬂ T ‘-.:l-;ll;l‘ % K|

Lateral Combaination

Diagonal Combination

4 Tawuig waEres
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Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

Pools and Cartel are a form of -
TR SIX HIcd AEY E

Options:
Partnership

| STEER B

Union
5 HE o

Federation
3 HevI %



Amalgamation

oo

4 =
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Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question

Amalgamation is a form of :
fat -
Ueh <0 &WET &

Options:
Federation

1 ﬁﬁ?x] i

Complete Consolidation

ErﬂﬂTﬁTP?:l"Fr

Cartel

Pool
LT
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

Which of the following is a method of Job evaluation ?
Options:

Ranking method
;- Sofl fafer

Observation method
Hd (r\ o Td r'f._]

Records methods

Aferg faf=

Participation method
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Correct Marks: 3 WrongMarks: 1
Question Label : Multiple Choice Guestion
The Indinan Trade Union Act was passed in :
ARG A9 HY a8 aivg fhar 72
Options:

1901

1901 4

1

1926
1926 1

1947
1947 ¥

1956 9
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Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

Name the First Trade Union established in 1920 -

UH HH Y &1 A gqi5d |l 1920 § @i e T
Options:

INTUC

Eﬂ’sf o THo o o o

AITUC
To f:—'l'l?;:'r..'- Tlo ?1{:'_- Hio

UTLUC
?_'I-IEJ _F_ﬁ'tiﬁ ?10 Hlo

NFITU
'QT—"(_“. q".-ﬁu:'_'u _CLTK_) ?_":Tr"u q::_'u
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Correct Marks: 3 WrongMarks: 1



ouestion Label : Multiple Choice Question

First Industrial Policy of free India was announced in the vear :
Wad ARG @1 92 SiEnte Ao =it @ T el

Options:

1947

1 1947 4
1948

19439

1951
19514
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Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion
The economic environment of a business includes :
Options:
Industrial Policies
SiTENTe S

Economic Policies

. "-u.- r i Wi

Economic Condition
anfeles o

All of the three
; Al H ol
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Cuestion Label : Multiple Choice Question



Physical Environment includes :
Wiferer araawT ¥ I 2

Options:

MNatural Rezources

| TPIcp HETE

Climate

g
it

Water

=z L RSy

All of the three
i GG
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Correct Marks: 3 Wrong Marks: 1
Cesticon Label ;- Multiple Choice Question

In which year did the Industrial Disputes Act came into operation ?
SreEnfire faarg siffem e ay o9 5 amn ?

Options:
1947
1.

1949
19563

1963
4.
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Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

Which State in India is estimated to have the largest coal reserves ?
ARG H {9 g 4 gaifeed Hrae 9UeR Sag § 7

Options:
Madhya Pradesh
, 7= P



Uttar Pradesh
SEsEE® ::Q

JTharkhand
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Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple Choice GQuestion

Which one of the following rivers has been declared as 'national river’ by the
Government of India ?

f=feiad 4 9 S0 T8 9N OGN N VR der w9 H "ifyg @ T

g.’«"

Options:
Ganga

Yanmma

o g

Brahmaputra

Kaveri

4 I
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Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Where is the Forest Research Institute of India located ?

i e SWicyge At 3fiear (MRA™ 99 S EuH SR i) o8l w=iud 2 ?
Options:
Delhi

1 ﬁi"ﬁx



Dehradun

2. 8

Chennai

. Y
T4 ™

3 ! Q

Lucknow

4 S EE R e

Question Number : 92 Question Id : 5431075263 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuesticon Label : Multiple Choice Question

The term 'mixed economy’ denotes :
Tafsa  srfoger vk Afee &yar 2

Options:
Co-existence of rural and urban sectors

1rT:$rnT4 0T T 918 &3 &l 98 Jido

Co-existence of private and public sectors

2 "_'_;_‘.J: q_‘:i:- 51 El-l'u_: -;'Elﬂi a\‘i'_.:-!'ll- F'h—[ qq—r:l'- E‘ 'F;_‘l‘_.s_‘_a

Co-existence of heavy and small industries
o [RITel qeq Bc I & 98 ARda

Co-existence of developed and under-developed sectors.

, (9o Td I &= @1 §8 S

Question Number : 93 Question Id : 5431075264 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

Which of the following can be called as a part of the service sector ?
ffeigd 5 HIH-9T HdT &3 &1 Ush I &al ol Jhdlr g 7

Options:
Banking

e [<h?

1.

Coal Mines
5 il Bl =g




Agriculture

None of the three

, T H P

Question Number : 94 Question Id : 5431075265 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

A Trade Policy refers to:
Options:
Export-Import Policy
Foreign Exchange policy
raq el fafag =M

Licencing Policy

ATSHRET =Ifa

None of the three

Question Number : 95 Question Id : 5431075266 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
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Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion

The abbreviation NABARD' stands for :

T U 41 U AN €1 (NABARD) &1 U1 &0 & :

Options:
National Bank for Agriculture and Rezource Development
FIFA d BR THiheo) tvs RO STegdET

1

National Bank for Asian Research Development
5 9 dF BiR UfiE e SaaTdHe

National Bank for Agriculture and Rural Development
. JI dp B UilhoaN U ¥R SddUHe




National Bank for Agri Related Development
, T 4% B T Relcs SdodHe
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Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label - Multiple Choice Question

Economic planning is an essential feature of :
e faTas Us Sravad ¢er B

Options:

Capitalist Economy

%\kﬂ o G 3 ?r] g

Socialist Economy
THTSaTS] STfETaee &1

Mixed Economy

None of the three

4_ﬁ’}=ﬁﬁﬁﬂ?ﬁ3=&‘ﬁ
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Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

Which of the following is not covered under GS5T ?
Frfemad § @ &9 o w8 & ¥ e 78 8 ?
Options:

Readymade garments

Natural Gas

Automobiles
2 ATCTHIE sod

Air conditioner

4 'Q«Sﬁ' fﬂ"\é :I . E



Question Number : 98 Question Id : 5431075269 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

Which of the following is mot the source of revenue to the Central
Government ?

ffoiag 5 ¥ $F-91 $=19 UYEHN & ATH & Gid 787 &

Options:
Income Tax
| SR

Corporate Tax

zf—rq‘r.-- Gk

Toll Tax

Central Excise Dut}*
iy B Gedre Yo
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Correct Marks: 3 WrongMarks: 1

Cuestion Label - Multiple Choice Cuestion

An instrument of qualitative credit control in India 1is -
R H VIS WIE-FEH0 ®1 Uk SUSY o

Options:
Open Market Operations

) el qraTe Tdrel-

C hange in Rezerve Ratio
- T - P r
RoTd arara H aiRed

Bank Rate Policy

Credit Rationing

shibsc YR
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Correct Marks: 3 Wrong Marks: 1



Cuestion Label : Multiple Choice Question

The headquarter of World Trade Organization is in :
[d9d @R WA & &y €

Options:
New York

1

Geneva

, o #

Rome
T H
=

Doha

4.'51;[
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Guestion
The tax on import and export is known as -

1 E AR 2 s B el ) e B o e Tl =1 | [ 1 =

Options:
Income Tax
. STEEhY

Custom Duty

, I e

Trade Tax

Sales Tax

4ﬁmaﬁ

Question Number : 102 Question 1d : 5431075273 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuesticon Label : Multiple Choice Question

Which one of the following is not a tool of Fiscal Policy ?
Fr=feTiad § -1 ITAS M i FT Uh I9H 787 & 7

Options:



Interest Rate

Taxation

5

Public Debt

-1 Fo

Public Expenditure
ATl @Y
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Correct Marks: 3 Wrong Marks: 1
Question Label : Multiple Choice Question
Who propounded the Monetary theory of the trade cycle ?

OMIR Tk &1 JaT Mgrd g ufamicg faar ?

Options:
M. Friedman

. THo THISHA

R. G. Hawtrey
ANo o E"I_ﬁ

J. M. Keynes
F-’ UHo r}ﬁ ]

J. A. Schumpeter
G.[G' q'?‘ < L
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Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion
Fiscal Deficit is:
Y ﬂfﬁ% m?] ‘r.] l:'_. % ;
Options:

Total Expenditure — Total Receipts
, B I —F it




Revenue Exp endifure — Revenue Rec eipts
ot Y — ol grfat

Capital Expenditure — Capital Receipts — Market Borrowings
JoirTd & — YeiliTd Iyl — aTelY =]

Sum of Budget Deficit and Government's Market Borrowings and
Liabilities
PR I [ ) oA 2 B B | R i R T | s R B | B [
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Correct Marks: 3 WrongMarks: 1
Cuesticon Label : Multiple Choice Question

Who is the Chairman of "NITI Aayog'' ?
1T 1 (R 7 2 B o A I - S
Options:

President of India
L GRED R T

Prime Minister

TETHH=T

Finance Minister

=

= 4 s

Governor of Reserve Bank of India

5 Y Qﬁlu ‘.qm-’:lr ﬁ_{ﬁ & 'I’:l'_‘ix’
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Correct Marks: 3 Wrong Marks: 1

Question Label : Multiple Choice Question

A specific statement which specify what must be done or must not be done in a
specific situation, is called ?

Ud fAfre S of Ue fafgre oRferfa | o fear oma s =81 o o &l

2

e YAl 8, &l el oidr 2 2

Options:
Strategy

YOI



Procedure

7l |
z.

Rule

Sﬁan

Policies

4 !r |-~ [~
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Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

Which of the following is not a feature of organization ?
Frefeif & & G WTow B e 7 & 7

Options:

Formal Relations

1aﬂ—vm-z7mﬂ

Informal Relations
o SATTEIRG Hee

Group of unknown people
2 I EG RG] \"I‘ﬂﬁ'a

Delegation of Authority
. HTEHTT BT =0T
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Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

'Do or die, no question of why' is related with :
HI T W, T HT U FB 9 "dHg 2
Options:

Democratic Direction

R EICIEE A ERE

Autocratic Direction

o TN Feem



Free-rein Direction

. EEICBEEEE]

None of the three
, T
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

From the following which is the best technique of co- ordination :

i e e A e o 2 e 30 2 s A P T A s B A
Options:

Co-ordination by staff meetings
, TS T B ERT GHAY

Co-ordination by leadership
g P g §H9Y

Co-ordination by Self Co-ordination
5 AT BN HE

None of the three
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Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Question

The full form of BEP Analysis is:

a1 § U1 fagerwr (BEP Analysis) &7 G AH & :
Options:

Break- Equal Proportion Analysis

Break-Equal Part Arml}“f-'s.
Jh—gaael U fageryu

Break-Even Point Analysis



Break-Even Process Analysis

Question Number : 111 Question Id : 5431075282 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion

The process of predicting the future situation is called

qiawy ! IR BT FgAH o7 @1 9fHAr B &8l S ¢

Options:

Programme

o [ L

Forecasting

ﬂ:—.j

Methaod
fafe

Scheduling

4 T

Question Number : 112 Question Id : 5431075283 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Juestion Label - Multiple CThoice Cuestion
"Customer is always right” is an example of :
"“Med Had Hel Bidl 2° — Uh Iaed ¢ .

Options:
Policy

1 P
Rale
Process
A [ R o



Strategy

4?'?1:‘“”%&3
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Correct Marks: 3 WrongMarks: 1

Juestion Label - Multiple Choice Cuestion

"Every subordinate should be given directions by one and only one superior.”
This principle is known as

"Ud Nl P TS SN dael Ud AGeNT N e fear Wi =mifger a@E
RIsT T oreT @

Options:
Principle of unity of Direction
e & Tahar @1 g

Principle of unity of Command
TSI B Thal &1 G

Principle of Span of Supervision

o, e @ fRaR @1 Rigr=

Principle of Scalar chain
TETErEN WS JE@e BT g
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Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

Which from the following is not an advantage of Line Organisation :
fferfiag § | $9-97 a1 W & o9 J8@r g ?

Options:

Autocratic Nature

GIEIKIEIR Gl

Effective control
THTGEITET =

Flexibility
i x[ﬂ e



Strict Discipline
4 PR A=
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

Which of the following statement is net true with reference to Comumittee

Organisation :
A STed & "od § AEfaiad § 9 B9-91 $U9 9 T8l e 7
Options:

There can never be one-man committee.

There may bea permanent cotunittese,
U s HiEfa 81 9dal 2 |

There may be an informal conunittee.
UEH NG GEfg 8 9aal 2 |

=,
A comumittee may be re-constitued as per the requirement.
HTTIHATTHN U FiH BT GFHTe fhar & Hepel 2 |

G 1| j\ 2 o ] Hep
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Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

Which from the following is nof an advantage of successtul direction :

fag # W ST 9% ST &1 o J8F 2 7

Options:
Leszer Abzenteeizm

| T SR

Higher labour Turnover
o Sl A

Higher self-confidence
5 ST AT

Higher morale

4. & RIEE
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No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question
When a plan is formulated before experiencing a problem, it is called :

UH GEE DI FGYId BF 9 0 W6 U ATer iaqariad @1 Wl g, 99 Hed © ¢

Options:
Proactive plan

To-Afshardig] o]
1.

Reactive Plan
gefermare] Arer

Micro Plan
GeR AT

Formal Plan
4 SHTER® Al
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Cuestion Label : Multiple Choice Question

With reference to line & staff organisation, which of the following is a 'Staff
Position' :

YT GUT eI 96 & 9way H, FEfeigg 4 W $E-0 W U8 T

Options:
Officer on Special Duty
1 AR 3 W9 Te:?lf"_.l
Persomal Secretary

Zfea g 9fzd

Personal Assistant
TR Td GETS

All of the three
R E
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Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

Which of the following is not a part of control ?
fFr=iferiae 5 | -1 U= b1 9T J87 © 7

Options:

Measurement of performance
Pt
=g <=l HIYA

Non-setting of standards
TH qj o Hﬁﬂ -|‘\ J

Feedback

Tal:j_ng Corrective Action
\t_'jill‘ﬁlf"'ifh oH Jeld]

4.

Question Number : 120 Question Id : 5431075291 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question
After which of the following managerial function, direction is needed ?
fr=fefad ¥ e gegsa &1 @ a6, Fa9d & Ahegdd 98l 8 7
Options:

Motivation

SATHUROT

-
Planning
2 |-'\'-:1 l-:lIk “WJ I '

Staffing

:

Organising
4, HTCH
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Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

Which one of the following in not true ?

fr=fofiag & & &i9-91 90 J87 2 7



Options:
Financial statements are prepared on the basis of accounting principles and
conventions.
fociry faawor @1 oaied NEral 701 aRuifedl ®f =99 H WEdhY g9l Wil
;2

Any changes in accounting principles or methods will atfect the utility of

the financial statements.

e fagrdl td fafEE | fear T $1E aiads g faawon &1 S
o AT el € |

During the period of high inflation, the amounts associated with the items
of balance sheet are adjusted to current price level.

G=d Whifd B Y $ SNE, g @ g8 § GEad A B 9] o0 '
@ AR FHrafrd e o 2 |

Financial statements record only those transactions which can be expressed

in monetary units ﬂnl}’_

faxil faawul @ae 9281 WdeRl &1 ofEd &eal ¢ o= [ah Allad sersdl |
4 Udc g Sff el B |
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Correct Marks: 3 WrongMarks: 1
Couesticon Label ;- Multiple Choice Question

The comparative financial statements show :
Options:

Absolute figures in rupee
, T HArps T H

Increase and decrease in absolute figures

zm&Tmﬁqﬁgqﬁaﬂﬁ’r

Absolute data in percentage
. fuer aftpel @1 9faog 8§

All of the three
” GG E:E
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Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Common- size statements are the form of :

9 SN gTel fageor 9ud £

Options:
Horizontal Analys=is

1 E—M_E.r\-rl -‘w;f--;'{ U EF

Vertical Analysis

= .
g (aeelyo ®

Dymnamic Analysis

EFIEREEEE R

Trend Analysis

ggfT fagermor &
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Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

What is Gross Profit Ratio if ?

Total Sales T 6,00,000
Sales Returns T 50,000
Cost of Goods Sold T4.40,000

Tl o U &/ g ?

& {5 T 6,00,000
faepa ey % 50,000
[ehid AIe o1 T ¥ 4,40,000
Options:

20%
1

02%

z.
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Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Question

A low stock turnover ratio indicates :
FH VECIT STad 0T Hahd Beal € ¢

Options:
Over investment instock

, YE[aar ¥ HfEFge

Solvency position
9ITeE eHar Rerfa

Monopaoly situation

None of the three

3§ W B
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Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

Long term solvency is indicated by :

STERTE IR ST @1 Hadd ©
Options:

Liquid ratio

GER GRS EEIR
, TR ST

Debt-equity ratio
FLU-FHT] ST

Capital -gearing ratio
Joil He I




Profitability ratio
oy oATH Slddhdl :-:.‘-‘l'_jkil'-'l
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

Collections from book debts :
Options:

Increazes current ratio
, N SIAT H iy HAr B

Decreases current ratio
dic] E-Ijkilrl H &H fdl &

No effect on current ratio
HTe] AU Y DI GHE el

None of the three
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Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question

Financial statemnents are -
-:I:r|-‘ 7] |L:;EI§'E| E':I'EE _%’ i
Options:

Anticipated facts

Recorded facts

Aeiiag deg

Estimated facts
q2a @ A
= il

Analy=ed facts

c';ﬂ-:ﬁqﬁ Hah T2
4.
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

Which one higher ratio is not favourable :
HI-H] FeIaY 3T [ed®R] 8T § 7

Options:
Net Profit Ratio

qm <lH A4
i & ¥ SUId

Stock Turnover Ratio
CETTAT ATad ST

Gross Profit Ratio
Hehel oA Hﬂ T

Operating Ratio
TREATT ST
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Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question

Cash Flow Statement helps in which form of financial planning ?
e "dre faavn g uer & fag Fares § 98ha) &al & ¢

Options:
Long Term

1 L | -:Il-!-'{ |'_

Short Term

Medium Term

‘_‘F'\Z-i o RT'?

All of the three
, I
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Question Label ; Multiple Choice Guestion
According to AS -3 cash proceeds from issue of share is :
AS-3 % IR el & AT 9 ks i d

Options:
Operating activity
afETer faham

Financing activity

Inves.ting activitf;

3 a-c:l.--s k3 e 1:5

None of the three

4%???@’#1
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Juestion Label - Multiple CThoice Cuestion

If the net operating profit of the business is ¥ 90,000 and the debtors have
decreased during the vear by ¥ 40,000. Cash from Dperatimr is

afg AT BT Y& TNATT <74 T 90,000 2 & gy F gaar 4 T 40,000 @1 FHH
Bl © | IR=Eed § @S © ¢

Options:
] < 90,000

% 50,000
2.

% 1,30,000
=,

< 40.000
4,
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question



Match List I with List IT and select the correct answer using the codesz given
below the lists -

List I (Ttem) List IT (Activity)
A Cash paid to suppliers of raw materials 1 Operating Activity
B  Pavment of Dividends 2 Investing Actrvity
C  Inferest received on investment 3 Financing Activity

A 1 31 GE I & |1 garerd Sy N giEal & A @3 T @ 1 FA BRd
g0 HEl T B I DAY :
T 167 T 11 ()
A P Jld B JAer B TS A qiETer
B @Hig &1 A [Af-araT T

L a2 =

C fafarr o= ura = AT fa
Options:
Codes :
% :
A B C
1 3 2
1.
Codes :
e :
A B C
1 2 3
2.
Codes :
7T -
A B C
3 2 1
=
Codes :
e :
A B C
2 1 B
4.
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Juestion Label - Multiple CThoice Cuestion

Which one of the following statement is false.

~

Freferfad # & Fr-a G o & 2



Options:
Cash flow statement is based upon cash basis of accounting,
Yhe WdTE faav0T o =it & Adhg TR UY SHINT & |

1

Cash flow statement is based upon accrual basis of accounting.
e UdTE [9av0r d@ieT & S9TeiT SN OY S9N g |

Increase in the amount of creditors is a source of cash in cash flow
statement.

o VHS HaTE AR § SRl @ Al § giE s & i 2|

Increase in the amount of debters results in decreasze in cash in cash flow
statement.

RIehs UdTe fdaxvl | =Nl @1 A H gig &1 uRund Fa6e § B4 2|
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Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

How sale of equipment ¥ 90,000 (Book value ¥ 1,00,000) should be showm in the
cash tlow statement :

e UaTe faaver # S9SN @1 @8 T 90,000 (%@ Fe9 T 1,00,000) HY g
Options:

Cash inflow from investing activity ¥ 1,00,000

fafrre fhar @ ps ST ¥ 1,00,000

Cash used for financing activity ¥ 1,00,000
faeiae fvar & Tov Iibs @1 S9arT T 1,00,000

Cash inflow from investing activity ¥ 90,000
et e 9 91hs AT T 90,000

Cash inflow from investing activity ¥ 10,000
faf-are fhar 9 Yds 3T T 10,000
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A transaction relating to sale of assets being entered in sales book. It is an
example of :
Al & fasg 9 gy o o @ {9y ywe ¥ fom fTar Tl 98 U6

Sy

I _'ﬁu F‘r :

Options:
Error of Principle

f‘ﬁ.'f';e_:ll"ﬁ ﬁ'ﬁ- HE‘ rj'-{ ol

Error of Omission

Error of Accounting
fedTe @1 HYG BI

C c:mpensating error
afqRs g @
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ouestion Label : Multiple Choice Question

The balance of Suspense Account is shown in :
Options:
Trading Account

Profit and Loss Account
ATH-21 Ed o

Balance zheet

L (o]

None of the three
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Which one of the following statement in false ?
Frferiad 9 9 SF-91 B2 FHd © 7
Options:

Reserve for Bad Debts is to be made on Debtors.
A AU FU T HEI SHEN| U a9 Sl ©

Out standing expenses if appears in the Trial Balance is taken only to the
Balance sheet.
e 99 O gaue ¥ fear 1 8 a1 99 %dd fHee ¥ foad €|

Closing stock if appears in the Trial Balance is not taken to Trading
Account.

=g wefaar afc dege o o a1 8 97 S99 9N o™l § J81 forad 2|

Valuation of closing stock at the end of the accounting vear is done at cost

price or the market price which ever is higher.

oW gY@ A H i By @1 edie ard ol Hefdl 9TeiN ged g 4
4 9 T 9 SfEE 81 o fear e F
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Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

Provision for depreciation on fixed asset made in profit and loss Account of the
accounting vear will be deducted in the balance sheet :

W R W Hod B ol a4 @ SM-ETH 9 H @) T eEeen & e 4 9
Options:

From the book value of the asset concerned.

grEfHd TR & Ao e 9|

1.

From the market value of the asset concerned.
T T & SR Jod

2.

From the original value of the asset concerned.
THEad FEiRT & UNEE god 1

3

From the inflated price of the asset concerned.

, FHErEd i & wiiad e | |
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Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

A machine is purchased for ¥ 50,000. Depreciation to be provided annually
according to the fixed instalment method. The useful life of the machine is 10
yvears and residual value is ¥ 10,000. What is the rate of depreciation ?

T%H HEE T 50,000 H @S | FAd e Ugia & FT9R Uihay 29 o ST
2 | H2 &1 SUAT Wias @ 10 9 @1 & 91 HaeY He9 ¥ 10,000 2| B @1 §Y

Options:

12%

14%
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Cuestion Label : Multiple Choice Question
If preference shares are redeemed at premium, then such premium may be
provided out of :
afe A= Sfu &1 IeA WiEEE 9w 21, o e &1 e B S e
Options:

Share torfeiture Account

1 Eﬂ-ﬂlkﬂfﬁ R L:E 7{'-_*

Share Premium Account
37 ':”l'_"l a7 Eld H

Proceeds of fresh issue of Shares
3 39 o ur e=RiE o

Capital Redempticm Reserve Account

i fc{‘_vﬁ 9EE 999 9 9
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When shares are forfeited, capital account is debited by -
Ol 3 BT o fobar orar € 1 Yol Wi @1 $iee fhar S €

Options:
Forfeited amount

Called up amount of shares

, S @ A I

Nominal value of shares

el & wifa T

Paid up amount of shares

” S P GHar A A
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Juestion Label - Multiple CThoice Cuestion
Premuum on issue of shares can be used for :

a9 & A @ MifaTE &7 S9anT 5 o1 96ar 2

Options:
Issue of bonus shares

| @ ol @ frf o

Distribution of protits

Trcmsferring to General Rezerve
A Fod H IR &3 8

None of the three
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Cuesticon Label : Multiple Choice Question

Atter the debentures are redeemed, the balance in the Sinking Fund Account is
transterred to :

i r

O] & A & 918, [T wmUe @ & 99 61 WETRG R A g
Options:




Capital Reserve

Uoll =g H

General Reserve
HER 999 °

Profit and Loss Account

Secret Reserve
i T g9 |
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uestion Label - Multiple Choice Cuestion
Debentureholders are -

FUTIFER] B0 &

Options:
Creditors of the company
1 HHE B T

Customer of the company
HHHT @ ATEd

Owner of the company
HF T TTH]

None of the three

A H W @I e
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Cuestion Label ; Multiple Choice Question

The goodwill brought in by the new partner iz withdrawn by old partners in
their :

T WEEN BN AR g5 SId N AISERi 8N e o 8

Options:



New Profit Sharing Ratio
T4 A A H

Old Protit Sharing Ratio
I o ST H

Capital Ratio
ol & a3

Equally
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Cuestion Label - Multiple Choice Cuestion

| o

= 1 j
X ,Y and Z are partners in the ratio of o E What will be the new ratio of

the remaining partners if X retires ?

A !

X Y dazZ = & U H WEEN £ X & HOET BF WY A1 SgU R

g | =
| e

Options:

g iy |
1.

4-1

I
-
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In case of retirement or death of a partner all accumulated profit and losses are
transferred in capital account of parteners in the :

U WIEER & IGHE Uiid 9% 47 g B1F @l <90 4 |fed oM Ud 81+ & asien
1 Uoll Wi § e fear o g

Options:
New profit sharing ratio
A7 oY 99T g H

Old protit sharing ratio
U A T s 4

Capital ratio

Uoll s H

None of the three

di=t § 9 BIS T8
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Cuestion Label : Multiple Choice Question

Bank balance as per pass book is T 20,000. Divided of ¥ 1,000 collected by bank
but entered in the Cash Book as T 100. The Cash Book balance is :

UTH g @ STJUR 4% 99 T 20,000 £ 1 ¥ A T 1,000 A4 & HUE fRd e
s &I H T 100 i {5 T4 | AUdbs JHiH $ 99 € ¢

Options:

. T 20,900

< 21,000
z.

< 20,000
o

19,100
4.
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Bank Reconciliation statement is :
& waEEE fgaw 2

Options:
Ledger Account

1 SEARCI
Part of the cash book
5 ?Iiiﬁg_ gﬂ‘ﬂi ol HMAT

A separate statment

Sqaﬁﬁﬁw

A sub division of Journal

4 STFICT BT Ueb Gufavrer



